EE 341 - Quiz #7

Name (please print): 

Solution              The last four digits of your SSN: 
1.   A 208-V, 60-Hz, four-pole, Y-connected induction motor is rotating with a speed of 1710 RPM. The equivalent circuit components are
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(a) What is the slip of the motor?

(b) Compute the line current IL and input power Pin.

Solution:

(a)
The synchronous speed is 
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So the slip is 
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(b) The equivalent circuit of the induction motor is shown below:
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The line current is 
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The input power is
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“No aid is given, received or observed”         Signature_____________











_1108538061.unknown

_1108539115.unknown

_1108539209.unknown

_1108539689.unknown

_1108539467.unknown

_1108539179.unknown

_1108538550.unknown

_1108538985

_1108538535.unknown

_1108537951.unknown

_1108537971.unknown

_1108537944.unknown

_1108537942.unknown

